April 06, 2000---------------------------Case Study

FSC Paris

Calculating Fx Gain/(Loss) for FY 1999

Required Data:

a = Current Fx rate (FF to $ last business day of applicable month)

	MONTH
	Fx Rate

	October
	5.52

	November
	5.70

	December
	5.62

	January
	5.74

	February
	5.95

	March
	6.11

	April
	6.19

	May
	6.26

	June
	6.35

	July
	6.14

	August
	6.21

	September
	6.16


b = Base Fx rate (as of September 30, 1998) = 5.63 FF / $

x = Monthly liquidations

	MONTH
	Liquidations

	October
	$171,755

	November
	$312,661

	December
	$1,049,667

	January
	$495,867

	February
	$616,919

	March
	$631,489

	April
	$674,241

	May
	$567,477

	June
	$590,178

	July
	$783,608

	August
	$521,639

	September
	$824,757

	TOTAL
	 


y = Percentage of total resources planned to be expended in USD = 8.34638%

z = Percentage of total resources planned to be expended in LC = 91.65362%

Calculating Year-to-date Fx Gains/(Losses) on Liquidations

Loss for October 


Gain for November 
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Loss for December 

[image: image2.png]- 5,667
@L709y=| —— SMOOET | g 000667

0834638 + («nmo_) \ 563 ) H
2





Continue calculating each month that has occurred. 

Sum Monthly Results for FY 1999 Year-to-date Impact on Liquidations

	MONTH
	 

	October
	($3,081)

	November
	$3,559

	December
	($1,709)

	January
	$8,865

	February
	$31,986

	March
	$48,997

	April
	$60,961

	May
	$57,662

	June
	$68,446

	July
	$64,571

	August
	$48,834

	September
	$70,607

	Total YTD
	$459,698


Calculating Year-to-date Fx Gains/(Losses) on Unliquidated Balances

Required Data:

t = Total resources = $8,708,761

l = Total liquidations = $7,240,258

s = Sum of year-to-date gains/(losses) = $459,698

z = Percentage of total resources planned to be expended in LC = 91.65362%

a = The latest end of month local currency Fx = 6.16 FF/$ (i.e., September 1999)

b = The base Fx rate = 5.63 FF/$

Adjust unliquidated resources balance for prior gains/(losses):
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True future local currency liquidations = $924,597.

Calculate gains/(losses) on true unliquidated balances: 
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Total year-to-date gains for FSC Paris in FY 1999 = $539,249.

Calculating Full Year Impact of Fx Gains/(Losses) on Budget Base

Required Data:

p = Planned local currency resources = $7,981,895

(i.e., $8,708,761*91.65362%=$7,981,895)

a = The latest end of month local currency Fx = 6.16 FF/$ (i.e., September 1999)

b = The base Fx rate = 5.63 FF/$
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Annualization of FY 1999

Required Data:

n = Full year impact of Fx gains/(losses) on budget base = $686,754

f = Year-to-date impact of Fx gains/(losses) = $539,249 
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Proof of Annualization

At the beginning of the FY FSC Paris can buy the following amount of French Francs:

Beginning LC Resources * Base Fx = Total FF

$7,981,895 * 5.63 = FF 44,938,069

Adjusting beginning of year LC resources, using full year impact amount, FSC Paris can buy:

($7,981,895 - $686,754) * 6.16 = FF 44,938,069

 

